
1) Convert the following mixed number 
51/6 to an improper fraction.

Answer: ____________

2) 'What is the probability of rolling a 
multiple of 2.when rolling a dice

Answer: ____________

3) 'What is the probability of rolling a 
multiple of 2.when rolling a dice

Answer: ____________

4) 'What is the probability of rolling a 
multiple of 2.when rolling a dice

Answer: ____________

5) 21
Find Volume of 

                        Rectangular Pyramid
17

20

Answer: ____________

6) Find perimeter of 
square having each side 
(s) equals 93 in

Answer: ____________

7) Convert the following mixed number 
32/9 to an improper fraction.

Answer: ____________

8) Convert the following mixed number 
12/10 to an improper fraction.

Answer: ____________

9) Find perimeter of 
square having each side 
(s) equals 36 cm

Answer: ____________

10) Find perimeter of 
square having each 
side (s) equals 36 cm

Answer: ____________

11)
17 Find Volume of 
                         Hexagonal Pyramid

16
16

Answer: ____________

12)
17 Find Volume of 
                         Hexagonal Pyramid

16
16

Answer: ____________

13) Find perimeter of 
square having each 
side (s) equals 12 in

Answer: ____________

14)

'Name the type of angle.

Answer: ____________

15) 'What is the probability of rolling a 
multiple of 4.when rolling a dice

Answer: ____________

Copyright 2018 - Geek School Tutoring Limited http://www.geekschool.co.uk

Name: _____________________________

June 11, 2018

Sr: 11062018-434
 

http://www.geekschool.co.uk


16) 'What is the probability of rolling a 
number less than 2.when rolling a 
dice

Answer: ____________

17) Find perimeter of 
square having each 
side (s) equals 6 ft

Answer: ____________

18) Find perimeter of 
square having each 
side (s) equals 6 ft

Answer: ____________

19) Find perimeter of 
square having each 
side (s) equals 6 ft

Answer: ____________

20) Find perimeter of 
square having each 
side (s) equals 6 ft

Answer: ____________

Total: ___ / 20
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Answers:

1) 31/6 2) 1/2 3) 1/2 4) 1/2 5) 2380 6) 372in 7) 29/9

8) 6/5 9) 144cm 10) 144cm 11) 3768.9425572699 12) 3768.9425572699 13) 48in 14) Right

15) 1/6 16) 1/6 17) 24ft 18) 24ft 19) 24ft 20) 24ft
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